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; 100kN/MZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 5.48 68.38 | =LY | 000 ~ 000|175 8.84 ZznLst 1.00 | 5.00 ~ 6.00 68.38 | =nhS | 6,00 ~ 600|175 8.84
2 100kN/m#%#BZ25| 1.00| 000 ~ 1.30| 119.74 |3mZEBzB| — ~ — — — | 100kN/mi%# 825 | 1.00 | 10.79 ~ 1490 119.74 |3m&EBZ5 -~ — — —
ZznLst 1.00 | 1.30 ~ 9.09 100.00 | =0 | 000 ~ 9.09| 231 11.65 zhnLs 1.00 | 6.00 ~ 10.79 100.00 | FnRSY | 5,00 ~ 14.90 | 2.31 11.65
3 100kN/m#%#BZ5| 1.00| 000 ~ 1.56| 12375 |3mZEBz5| — ~ — — — | 100kN/mi%E# 825 | 1.00 | 11.67 ~ 19.85| 123.75 |3m&EBZ5 -~ — — —
ZznLst 1.00 | 1.66 ~ 9.54 100.00 | #nS | 000 ~ 934|216 10.90 zhn s 1.00 | 56.00 ~ 11.67| 100.00 | ThLS | 5,00 ~ 1985| 2.16 10.90
4 100kN/m#%#BZ5| 1.00| 000 ~ 1.58| 12414 |3mZEBzB| — ~ — — — | 100kN/mi%E# 825 | 1.00 | 11.61 ~ 1985 124.14 |3m&EBZ5 -~ — — —
ZznLst 100|158 ~ 937 100.00 | TnLs | 000 ~ 937|216 10.92 ZznLst 1.00 | 6.00 ~ 1161 100.00 | RS | 5.00 ~ 1985|216 10.92
5 100kN/m#%#BZ5| 1.00| 000 ~ 1.88| 12898 |3m&EBzE| — ~ — — — | 100kN/mi%E#BZ5 | 1.00 | 11.02 ~ 1985 12898 |3m&EBZ5 -~ — — —
ZznLst 1.00 | 1.88 ~ 9.67 100.00 | =0y | 000 ~ 967|222 11.24 ZznLst 1.00 | 6.00 ~ 1102 100.00 | =N | 6,00 ~ 1985|222 11.24
¢ 100kN/mMZ#BZ5| 1.00 | 0.00 ~ 254 139.78 |3mEBAD| — ~ — — — | 100kN/mi%E# 825 | 1.00 | 1057 ~ 21.30| 139.78 |3m&EBZ5 -~ — — —
ZznLst 1.00 | 264 ~ 1052 100.00 | =LY | 000 ~ 1032| 2.43 12.27 ZznLst 1.00 | 6.00 ~ 1057 100.00 | =N | 6,00 ~ 2130|243 12.27
. 100kN/m#%#BZ5| 1.00| 000 ~ 245| 13881 |3mZEBZB| — ~ — — — | 100kN/mi%E# 825 | 1.00 | 10.72 ~ 2067 | 13831 |3m&EBZ5 -~ — — —
ZznLst 1.00 | 245 ~ 1023 100.00 | =nlsYy | 000 ~ 1023| 2.48 12.66 ZznLst 1.00 | 5.00 ~ 10.72 100.00 | =N | 6,00 ~ 2067|248 12.56
3 100kN/m%Z#BZ5| 1.00 | 000 ~ 1.89| 129.05|3mEBZB| — ~ — — — | 100kN/m%Z#Z5 | 1.00 | 1053 ~ 1740 129.05 |3mZE#BZ3 -~ — — —
ZznLs 1.00 | 1.89 ~ 9.67 100.00 | =nlsy | 000 ~ 967|219 11.07 ZznLst 1.00 1 6.00 ~ 10.53 100.00 | =nS | 6,00 ~ 1740 2.19 11.07
9 100kN/m%Z#BZ5 | 1.00 | 000 ~ 232| 13616 |3mEBZB| — ~ — — — | 100kN/miZ#Z5 | 1.00 | 1061 ~ 1976 | 136,16 |3mZE#BZ3 - ~ — — —
zh st 1.00 | 232 ~ 110 100.00| FnRS | 000 ~ 1010 2.45 12.36 ZznLst 1.00 | 6,00 ~ 10.61 100.00 | ThS | 5,00 ~ 19.76 | 2.45 12.36
70 100kN/m%Z#BZ5| 1.00 | 000 ~ 232| 13621 |3mEBZB| — ~ — — — | 100kN/miZ#Z5 | 1.00 | 1060 ~ 1978 136,21 |3mZE#BZ3 - ~ — — —
ZznLs 1.00 | 232 ~ 1011 100.00 | LS | 000 ~ 1011|244 12.34 ZznLst 1.00 1 6.00 ~ 10.60 100.00 | =nhSt | .00 ~ 19.78| 2.44 12.34
17 100kN/m%Z#BZ5| 1.00 | 000 ~ 228| 13557 |3mEBZB| — ~ — — — | 100kN/m%Z#Z5 | 1.00 | 1053 ~ 1973 135.67 |3mZE#BZ3 -~ — — —
zh st 1.00 | 228 ~ 1007 100.00 | FnLSN | 000 ~ 1007|239 12.06 ZznLst 1.00 | 6.00 ~ 10.53 100.00 | =nRS | .00 ~ 1973 | 2.39 12.06
19 100kN/M%Z#BZ5 | 1.00 | 000 ~ 228| 13554 |3mEBZB| — ~ — — — | 100kN/mM%Z#Z5 | 1.00 | 1053 ~ 1973 135.64 |3mZE#BZ3 - ~ — — —
zh st 1.00 | 228 ~ 1007 100.00| NS | 0.00 ~ 1007|238 12.05 ZznLst 1.00 | 6,00 ~ 10.53 100.00 | =nRS | 6,00 ~ 1973 | 2.38 12.05
13 100kN/M%Z#BZ5 | 1.00 | 000 ~ 154 12352 |3mEBZB| — ~ — — — | 100kN/m%#825% | 1.00 | 1064 ~ 1571 123.52 |3m% i8R % - ~ — — —
ZznLs 1.00 | 1.64 ~ 9.33 100.00 | =04y | 000 ~ 933|226 11.44 ZznLst 1.00 1 6.00 ~ 10.64 100.00 | FhS | 6,00 ~ 1571 | 2.26 11.44
14 100kN/m% 25| 1.00 | 0.00 ~ 1.54 123,52 |3mEBZB| — ~ — — — | 100kN/m%#BZ 5| 1.00 | 1064 ~ 1571 123.52 |3mZEHBA S - ~ — — —
ZTh LS 1.00| 1.54 ~ 9.33| 100.00 | Thds | 000 ~ 933|226 11.44 ZThst 1.0015.00 ~ 1064| 100.00| Tns | 500 ~ 1571|226 11.44
15 100kN/m%#8Z2%| 1.00| 000 ~ 1.16 117.57 |3mEEZB| — ~ — — — | 100kN/m%# 825 | 1.00 | 10564 ~ 14.25 117.57 |3mZ#BZR5 -~ — — —
st 1.00| 116 ~ 895| 100.00 | Thist | 000 ~ 895|216 10.92 ZThLs 1.00 | 5.00 ~ 1054 100.00 | TnS | 500 ~ 1425| 2.16 10.92
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16 100kN/m##8Z25%| 1.00| 000 ~ 1.16 117.567 |3mZBASH| — ~ — — — | 100kN/m#Z#BZ% | 1.00 | 10564 ~ 1425 117.57 |3mZE#BZD -~ — — —
zhnLst 100|116 ~ 895 100.00 | Zhlst | 000 ~ 895|216 10.92 zhnLst 1.00 | 5.00 10.54 100.00 | =nLSY | 5.00 ~ 1425|216 10.92
17 100kN/m#%#B25| 1.00| 000 ~ 1.30| 119.77 |3mZEBz5| — ~ — — — | 100kN/mi%# 2% | 1.00 | 10.56 1489 119.77 |3mZE#BR D - ~ — — —
ZznLst 1.00 | 1.30 ~ 9.09 100.00 | =0y | 000 ~ 9.09| 215 10.85 ZznLst 1.00 | 5.00 10.56 100.00 | FnRSY | 5,00 ~ 14.89| 2.156 10.856
18 100kN/m#%#BZ5| 1.00| 000 ~ 0.07| 10097 |3mZEBzE| — ~ — — — | 100kN/mi%E#BZ% | 1.00 | 10.53 1070 100.97 |3mE#ERD - ~ — — —
ZznLst 1.00 | 0.07 ~ 785 100.00 | #nS | 000 ~ 785|219 11.06 zhn s 1.00 | 6.00 10.53 100.00 | =hS | 5.00 ~ 10.70] 2.19 11.06
19 100kN/mMZ#8 % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z# %3 — — — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 6.74 85.14 | =hst | 0oo ~ 674|192 971 ZznLst 1.00 | 5.00 8.70 85.14 | =nLs | 500 ~ 870192 971
20 100kN/mMZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — — — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 462 57.56 | st | 0oo ~ 462 1.87 9.45 ZznLst 1.00 | 5.00 .00 57.66 | =N | 5,00 ~ 5.00)|1.87 945
100kN/mMZ#8 % % ~ ImEHBZD ~ 100kN/m%Z#B %% 3ImEHBZ D ~
ZThst ~ ZhLst ~ ZFhst ZhLlst ~
100kN/MZ#8 % % ~ ImEHEZD ~ 100kN/m%Z#B %% ImEBZ D ~
ZFhst ~ zhnLst ~ Zhust ZhLlst ~
100kN/mMZ#8 % % ~ 3ImEHEZD ~ 100kN/mMZ#BZ % ImERZD ~
Zh LS ~ Zh s ~ ZhLS Zh Lot ~
100kN/MZ#8 % % ~ 3ImEHEZD ~ 100kN/mMZ#BZ % 3ImEBZD ~
Zh LS ~ Zh s ~ ZhLS Zh st ~
100kN/mMZ#B % % ~ 3ImEHEZD ~ 100kN/mMZ#BZ % ImEBZD ~
Zh LS ~ Zh s ~ Zh LS Zh st ~
100kN/mMZ#B % % ~ 3ImEHEZD ~ 100kN/mMZ#BZ % ImERZD ~
ZThLS ~ Zh s ~ ZhLS Zh st ~
100kN/mMZ#8 % % ~ 3ImEHEZD ~ 100kN/mZ#8 %% 3ImERZD ~
Zh LS ~ Zh s ~ ZhLS Zh Lot ~
100kN/mMZ#8 % % ~ 3ImEHEZD ~ 100kN/mZ#B % % ImERZD ~
Zh LS ~ Zh s ~ ZhLS Zh st ~
100kN/mMZ#B % % ~ 3ImEHEZD ~ 100kN/mZ#B %% ImEBZD ~
ZhLS ~ Zn s ~ Zh LS Zh st ~
100kN/mMZ#8 % % ~ 3ImEHEZD ~ 100kN/mZ#BZ % 3ImERZD ~
zhnList ~ zhn s ~ zhnLst Zzh st ~
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